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Frz: @UTF, T TAT § U (AT T8 SRR fyerrrrit W forg srfard § 1 wd@w v § fg g St w
qIerT FE | g ¥ g S AT FIET e #F qaiy sgare @t 1 3R e whenEGt ¥ R 60

fafe sftfew awg & sagaf@ g | _
Section A, B and C arc compulsory for all Regular and Private studcents. Please follow
. Marks distribution for all students are as shown

the instructions, given in each section. s . _
in question paper. The blind candidates will be given 60 minutes extra time.
Regular 5x1=5/ Private 5x1=5

guT F : gegi18 Section A : Objective

e & & #1797 TE-uhy @i $ STHT AL 8 .

(3) HTHE HETHA A@IHT (@) Aoty A=
(7) Pt e |

(&) wuTY Arre fafer
Which of the following is not the tool of Management Accounting :

I.

(a) Human Resources Accounting (b) Budgetary Control
(c) Standard Costing (d) Decision Accounting.
2. wegsmret fasf Rufy & gere S
(3r) oTq Ao F At & : (@) 9T aifaes Fafm®
(w) =T weaf F vt & (=) T7H & T 7
Short-term Financial Position will improve with :
(a) Increase in Current Assets (b) Increase in Current Liabilities
(c) Decrease in Current Assets (d) None of these.
3. #ardfl aR9RY #T F7 36,000 ¥, svsr wrww 8,000 T, ST FT wam 15,000 2, fsit w1 B 60,00
R Tt & S sramg T - AR
Purchase of Fixed Assets 36,000, Interest_RECEiVGd X 8,000, Payment of Dividend 2 15 000, 1s
of Shares % 60,000. Cash Flows from investing activities will be - ,  SHe
(a) 28,000 (b) (28,000) (c) 17,000 (d) (13,000)
4, gHERE AT ... F T ¥ R AT E
() Wadasfi o (3) Rexamma (%) sferare (=) Fre |
Break Even Point varies proportionately with ........... '
(a) Variable Cost (b) Fixed Cost . (¢) Contribution (d) Sales
5. aWMEH ... d6S TET FTACE .
CIEUSIEED S ERCUGG (¥) <=t (T) D 7
Data are presented in Budget :
(a) Actual (b) Estimated (c) Both (d) None of both.
7S q : Y IT Section B : Short Answer Regular 5x3=15/ Private 5x3=15
TAGHT qEiHT Y et aarey |
Discuss the characteristics of Management Accounting
. sar OR
T i ya R i g Froqufy forfeg
Write note on Management Accounting in India.
P.T.O.
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2. ATASTIFRAT AT F4T & 7
What are Profitability Ratio ?

sgAT OR .
af wreg weefRat 5.00,000 wwd, wreg Frfrer 2,50.000 F¥ wat ww 1.25,000 T 21, AT AT vy
T T Jra fife

abilitics ¥ 2.50,000 and Stock is T 1,25,000, find gy

If Current Assets arc £ 5,00,000, Current Li
Current Ratio and Liquid Ratio.

3. sTerr afaafireT & g sraTg e sre e AT & 7
How Cash Flows from Operating Activities arc found out ?
gy QR

#ﬁlﬁ@'ﬂﬁ?ﬁﬁﬂﬁﬁﬂmﬁiﬂaﬁml

Explain the meaning of International Financial Reporting Standards,

4. ey qorg &R f Fawart g9Ee )

Show the characteristics of Absorption Costing.
araar OR

7 fRax AT 1,60,000 &9 qam rar-wrAT AT 20% Ty a7 wwi=aw famg £ ofdy sra fifr
If Fixed Cost is Z 1,60,000 and Profit Volume Ratio is 20%, find out Break Even Sales,

5. s a9e w7 L ? 78 $Y dA< Famr e € 2
What is Cash Budget ? How is it prepared ?
w41 OR

ITRIRAT FERTETE?

What is Responsibilities Centre ?
gvs ¥ : 914 3989 Section C : Long Answer : I Regular 5x4=20 / Private $x6=30
|, =T JEieT § T g it 7 avty it

Describe the functions and limitations of Management Accounting.

991 OR
‘Wﬂﬁv%@ﬁ%w%mﬁmmﬁﬁwW%ﬁw% " T Fgm i ot Srear v |
“Management Accounting has been evolved to meet the needs of Management.” Explain this
statement fully. https://www.davvonline.com

T TG HI AT FTAHC Faerg o, F Fafafm et 3 iy wfadt i worar i ik st g

Calculate the trend percentages from the following figures of Sunglass Ltd. taking first year as the

base and interpret them :
(Z in lakhs)

Year Sales Stock Profit Before Tax
1 1,881 709 321
2 2,340 781 435
3 2,655 816 458
4 3,021 944 527
5 3,768 1,154 - 672
#9491 OR

7T fa#T 3,00,000 TqF, < {356 5,00,000 &9, ArvaieE arady 50,000 T, whws w4 50,000

0y, afeaw @y 70,000 €93, G5 ATH 20% | ST HI0C (1) Thegd JMad (F) el TOaeor dai
Credit Sales Z 3,00,000, Cash Sales ¥ 5,00,000, Returns Inward X 50,000, Opening Stock T 50,000,

Closing Stock Z 70,000, Gross Profit Ratio 20%. Find out (a) Inventory Turnover (b) Inventory

Conversion Period.
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From the following nformation prepare g Cash | oW Siateiment .

2

ﬁﬁﬁtlw;ngm;hj 10,000
Emr.* * #=F (Decrease in Debtors) 25.000
T # 38 (Increase in Creditors) 15.000
“f"ﬁ:‘"’rﬁti‘mhascofhdem 18.000
T 7 S (Redemption of Debentures) 12.000
rre e e Opening Cash Balance) ¢ 000
T 7 71w (Profit fml;i(-v.:r)[hlmJ 26,000
3y 20,000

T OR
TS ¥ wAnt RAgrat (GAAP) 3 R 3w 22 e « AR L L e ——
What is Generally Accepted Accounting Principles (GAAP) 2 Explain them 'a:: i
micmational level. Astional and

%W%mmﬁﬁ%mmmwwﬁaﬁﬁﬂﬁﬁn

Determine profit by maki . . .
following mf?i-r::mm ing Cost Sheet according to Absorption Costing Method from he

A=< (Particulars)

— - z
:f:'é'ﬂWﬁW(Mﬂlﬂi&lCOSlPﬁmiﬂ 40
- ¥TE = S (Labour Cost per unit) 20
qe_?—!. FTS Wﬁ; . FEET 397549 (Variable Factory Overhead per unit) 10
T;; IFIE ® FTTETT 91T (Fixed Factory Overhead per unit) 50

SIS I SIEE1 9T (Total Factm)rﬁosl per unit) 120
T 7 Fww Tofreay (Administrative and Sellin h

g Overhead
i b I, e ) 2 2.10.000
! ‘1 (S; lcs"d) 10,000 Unns
g; 1‘ ; e (Sellag Pric perwity 7.000 Unis
HTET OR * 200

?ﬁﬁﬁw%wmg?ﬁﬁmﬁwwaﬁrw;
are Break Even Analysis ? Explain its dSSumptions and limitations
"\"ﬁ?m T2 ag Sy g T FmaT 2
What is *‘Cash Budget’ ? How is it prepared ?
FT4T OR
Wﬁah&mwmﬁ%?&éﬁﬂ%mm%

What is meant by Responsibility Centres ? How are the:-intres hE\;fu\ tom
anagement ?
\
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